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10 At2l =X

2
OZHIE=x

e 156,600 156,600 0
A 15,600
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o
B b 12

A4 & X 2 ot
EZ MY T (MISX/IZHEEE)
SS U2sE Y

SA-EY- S (SH) - MBAY - B O &t 04 il 2
— XA EZHE SAX X2 (1IHA)
15,600, 000& 15,600
= 7,800
= 7,800
S AINSEE AY 37,300 N6,924
= 29,840
= 3,730
= 3,730
301 L2 A= 37,300 N6,924
= 29,840
= 3,730
= 3,730
01 A3l EE E 563 37,300 AN6,924
O3HIEX ALY 37,300
—3AIZSE AMZ 37,300,000& 37,300
= 29,840
= 3,730
= 3,730
SAISEY HE= 14,400 A 2,400
< 7,200
= 7,200
301 g2 4= 14,400 A2,400
== 7,200
= 7,200
01 A3l EE E 56l = 14,400 A 2,400
OZHIEXZAY 14,400
—3AIZSE HES3 14,400,000& 14,400
< 7,200
= 7,200
2= S B2Es d4ENE 38,473 38,473
= 38,473
101 1A bl 36,025 36,025
= 36,025
M4 II2HZ22NSES 36,025 36,025
O=bIEXZ ALY 36,025
-=0 2,080,000& 124 & 24,960
= 24,960
— &I 9,952%+1.5%26 A1 2t 1200 B 4,658
= 4,658
— NI EFY 796,000 796
= 796
—EASHEES 2,524,000& 2,524
= 2,524
— A EBEZ 3,087,000& 3,087
= 3,087
201 Lot 2 bl 908 908
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AN FUHEX S D
M NASS Ma0d XNA(MISI/I=HEEE)
S HASS UHES B EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 908
01 At 22l 908 0 908
O=HIEXZ ALY 908
— AR N =Y 400,000& 400
2 400
—ANRES 220,000 220
= 220
=g=| 288,000 288
= 288
202 o4dl 1,540 0 1,540
= 1,540
01 = LH o4 1l 1,540 0 1,540
O=HIEx A 1,540
—A2WEHU 100,000& 100
= 100
— 33U 1,440,000 1,440
= 1,440
A58 =X X 564,698 607,787 A 43,089
= 65,576
< 80,317
s 418,805
MBIAESE HA2=28 X2 71,728 72,328 A 600
202 044l 1,728 1,728 0
01 = LH o4 1l 1,728 1,728 0
OHHA2AHU /2 d2FH 1,728,000 1,728
301 gt d= 70,000 70,600 A 600
01 Ml28E 6= 70,000 70,000 0
Oddd2 =28 L MISKNAE 22
25,0003 *1,400 KAl CH 23 70,000
HAsS0HE XH 185,600 220,000 A 34,400
301 et A=z 185,600 220,000 A 34,400
01 AR 2Z A5 3 185,000 220,000 A 35,000
OXaAANE AZEE= XS 60,000, 000& 60,000
OArA & M=tk 21223 K&
50,000,000 50,000
OXMAAS FEAHd= N 70,000,000& 70,000
OJdlz+=g €87 dadd3s50 N
5,000,000& 5,000
MIIEBE43 600 0 600
ORgel A Ad 24 20,000& 30 600
HASE D=EI2YH XN 22,500 22,500 0
< 11,250
[ia 11,250
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SN FOIMEXED
M NASS Ma0d XNA(MISI/I=HEEE)
Sel: HASE =X A CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 et a = 22,500 22,500 0
< 11,250
e 11,250
01 MEIBEZE 06z 22,500 22,500 0
SHIEX AL 22,500
~HASS AYM DETYY N
22,500,000& 22,500
< 11,250
s 11,250
MASE MH HEZ ALY 22,900 18,320 4,580
< 6,870
s 16,030
301 et A= 22,900 18,320 4,580
< 6,870
[ia 16,030
01 AR 2Z A 53 22,900 18,320 4,580
OEHIEZAY 22,900
~HASE T MELA(109)
22,900,000& 22,900
< 6,870
= 16,030
HAsEE MY &3 =22 N2 180,000 180,000 0
< 54,000
s 126,000
301 g4z 180,000 180,000 0
< 54,000
s 126,000
01 MI2EZE 6= 180,000 180,000 0
OZHIEx= AL 180,000
~HASS [ SRLYA NAAY
180,000, 000& 180,000
< 54,000
[ia 126,000
==X 81,970 94,639 A 12,669
= 65,576
< 8,197
e 8,197
301 et a = 81,970 94,639 A 12,669
= 65,576
< 8,197
s 8,197
01 MEIBEE 263 81,970 94,639 A 12,669
O=HIEXZ AL 81,970
—2==X X 81,970,000 81,970
= 65,576
< 8,197

w



o
B b 12

Jn i oz

Olf Ol mige
Z
Loj
Q
0
=
o

SN HH-S(BN) - MBAY - B il HlnE2

TT] = 8,197

HY2FZHI(F2AHEX 2 D) (IIEHDIIE) 27,400 26,290 1,110

Jl=234l 27,400 26,290 1,110

Jl23l 27,400 26,290 1,110

201 £B-2%H| 11,200 10,690 510

01 At 22l 11,200 10,690 510
Oget==EH| 11,200, 000& 11,200

202 o4dl 12,000 11,400 600

01 = LH o4 1l 12,000 11,400 600

SfA2Z(AIH, AOIL, F3s &4 5)

12,000,000& 12,000

203 PR =&l 4,200 4,200 0

04 FN2ELSZ=TH| 4,200 4,200 0
ORN2IYR A 4,200,000 4,200

HREs(=MaXd)(M=SX/II=HEEH) 496,582 497,903 A 1,321

HEHHK = 496,582 497,903 A 1,321

Bt HEES 496,582 497,903 A 1,321

701 JIEISI HEES 496,582 497,903 A1,321

01 JIEtSI HE &= 496,582 497,903 A 1,321
OA=20II=SE=H 8&= 496,582,000 496,582
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